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N7 IR O Auivp J3ART — For we say that an object that is
contained within the airspace of a N, is deemed just as if it
rested there

Overview

The X3 asked why is there a 2117 in the 7Iwn, there was no 7nIM 771°pPY
7 0pnn?

727 answered that the Xin of the 71wn is ¥'"1 who holds that a '7 2pn is not
required (MooIn assumes that this is all that ;727 said).'

To explain s'727 answer and to show that ¥"7 holds that a "7 23p» is not
required, the X3 quotes the NP1?mn between 2°1oM ¥ in a case where P77
YXNR2 7" 07772 2"n, where ¥ holds that he is 2°11. The reason why he is
21, the X723 says is because he holds 7v17p (and the 3327 do not hold 7v7p).
Since ¥"1 holds 7v1?p it is obvious that a resting place of "7 0Wpn is not
required.

The X3 then asks: It appears from s'727 answer that he holds that the
argument between 0°1om Y"1 is whether or not we say nv17p, but — the X3
asks — how can we say so, for we know that 727 was uncertain as to the
reason behind their npY7nn, that it may not be about 7012p, but rather if 72°9%
[uRli7atalalvinhin

mooin questions the s'&773 assumption that 7237 holds that the argument
between 2nom ¥'"1 is whether or not we say m12p. From where did the &3
come to this conclusion, since all that 727 said was that the 71wn is according
to ¥"1 who does not require a "7 2)pn. 727 never mentioned specifically that
the nPYonn is about WP

We should think that the reason 7127 says that the mwn 1s ¥"9, is because in
either of the two options in explaining the npY?nn between 27om ¥, we
find that ¥"1 always holds nY7p. Therefore there is no contradiction that on
one hand 7127 is not sure of the exact reason of the nm%nn [whether it is
about mY%p (where only ¥"9 holds 7v%p) or its about whether P 1999
v (where everyone holds of 701%p)] and that on the other hand 1721 says
that the mwn is ¥"9, because no matter how you interpret the ¥"2 ,np12mn
always holds 1101%p, and therefore a '7 2P is not required.

moon will present us with three different ways, how we derived from s'7127
statement that he must hold that the npY?n7 is about 7vY%p.

! Perhaps n21 may have also referenced the mywn but he did not (in maoIn view) say the reasons that v
1191 VWP PINN I120 (see D7INN).



NP PIINT 17T 0N K, T NIV T2

PrxY 1209 7wy — The 2" asks

7299 799 RWIWDT X2 7910 R1»T — why does the X713 ask ““do you mean
to say that ;7129 was certain” that the n,9mn between 075m ¥"1 is regarding 7017p
729% 7% RuOwsT 799 Xi1» — how does the X713 assume that it was certain to
7729 that the N between 0°2mM ¥ is regarding 7012p

N7 R2OPY 529 1% K7 IMKRPT 2R R — is it because 727 said that the Xin of
the mwn is ¥'"9, who holds that a '7 0pn is not required because we say T2, and
therefore the 0°»on who disagree with ¥"3 do not hold of 7tY%p, but this in not sufficient
proof that 7127 holds that the npY?r between 2°33m ¥ is whether or not we say nuvY?p for
it could well be that both 2>»5m ¥"1 hold of 7v17p as 727 suggests in the second option of
his query, and the reason why he says the 71wn is according to ¥"9 (only, and not the
o°nom)

AT STTINTR A YR TWDI AR % MR R2OPY "anRT 2w 1T — is because
¥'""1 holds of X7 mamw s 7wy in either of the options that 727 proposed
(in the first option only ¥" holds 701%p and in the second option everyone holds 17p).
7Y% RPDOR 1207 2K YaRk — but as far as the view of the 129, 727 was in
doubt whether they hold of m9p (as the query shows)

N7 7220 %1 K7 0mb sxn Mt XY o9 — and therefore he could not have
said that the 71wn is in accordance with the 3329, therefore 7127 said the mwn is
¥"9, but he did not mean to exclude the possibility that it may also be according to the
anon, if we were to accept the second option of the query. He only meant to say that for
sure it is in accordance with ¥" who holds 7v%p in either option.

In summation: Md0In asks that there is no proof that ;727 holds that the np1omn is about
Top, it could be that the np17nn is whether v wInn P 10927, but it would make no
difference because in either case 1727 says that ¥"9 holds nY%p, and therefore the miwn is
according to ¥"".

mooIn suggests a possible answer to this question;

Boyh MRPT N7 2RI 1T a8 — and if were to say that what was said
before in the X3, namely this quote:

'35 33271 RAT IR 9RO TWIOP N20 K29y 920 — “v'" holds TR v mwYep
NX°»7 and the 3129 etc. hold that we do not say T9p”

295W SNN 7T K77 7727 9727» Ho77 — this entire quote is the words of 7729, then
all would be well, for then 727 would have stated explicitly that the npyonn
between M ¥"7 is concerning 71%p, we would understand the s'87nm3 assumption that
127 holds that the np17rn is whether or not we say 7v17p, because 727 explicitly said it.
7729 5927 RITW N9 PR I8 — however in does not appear that this quote
are the words of 1729, but rather 727 just said that the 7awn is ¥"™, who does not
require a '7 0P, then the X7n3 after stating the nP17nn between 0°»5m ¥"1 concluded their
respective opinions on 7v17p, but 727 himself only said that the mawn is ¥, and that is
not in contradiction to his query, for in either option ¥"9 holds nv1%p. Therefore nMooIN
original question remains.

Y195 977 PR 11920 RY — and the >''1 says that to answer this question
we have to say that this is the explanation of the s'xn3 question
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7279 Sp2 w2 KM — but ;727 had a query as to how to interpret the npiomn,
meaning that 727 was uncertain to as to what was the real reason behind this np12rn, he
did not have a sureness in this matter

TnaEa PIBER R2ORT 1Y — so since we are uncertain as to the true
nature of their argument, as witnessed by 721 offering two options, (so even though
in both these two options ¥"1 holds 70Y7p, nevertheless)

"15%% %1 K2R — we may also consider that there may be other options, i.e.
TMINTR D YRR 1R K KDY 9912% K7 — perhaps everyone holds that
we do not say TR M TR

U RA9Y Y9159 97 7a15 1121 — and therefore in a case where the two >"777 were
one opposite the other on opposite sides of the 1", the everyone would

hold that he is 9D, because we don’t hold of %P and the idea of deriving P
VWM is not applicable since V¥ is MWD in a case of a0

RN RWT72 9395 95 —they only argue when the two "77 are in a N XwM7,
adjacent to one another, on the same side of the 2"77

WIRYRR 2T J9DDY M20 Rapvy Y297 — then ¥'' maintains that we derive oY
VIR and therefore he is 21

19093 XY 120 112 — and the 3327 maintain that we do not derive vwn pan
and therefore he is 110.Here we have an option where no one holds 7v1%p, (not even ¥").
This explains the s'R7n3 assumption that 727 has to have a definite opinion as to the
nature of the np17rn, i.e. that it depends whether or not we say n17p, for if 727 would not
have a definite opinion, how can he say that the mwn is ¥"3 who holds 7%p, when there
exists the option that even ¥ does not hold 7uv17p.

And the reason why 727 did not mention this option in his query —

nPYan Yo wash wn KY 7377 K98 — but 727 did not find it necessary to

specify all the options, two were enough to show that he was unsure as to the nature
of the np1omn.
This is one answer.

XS 1927 MW 7Y — and furthermore the ' says that there is another
answer

2971 9277 927 7wy qunb Yan o''wi RpT 877 — that which the X223 says
“but if it was thrown below ten 21150 from the 7"777 everyone agrees that
he is 29

ROM7 MR o5 TIBR J19MRT — because we say TBp

J339% %1957 — the reasoning that you are " nun 2°°11 because of 7012p applies
only to the j129

AT NI 9720 IRY wY9R »''% 9aR — but ¥''1 even though he also agrees that P
“» munb is 271, however (in this option when he derives vwian p77) he holds that
VDR IS not M7 MY s

% See N,I8 MIWN
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VIR P DPIT 2wn avmm — and a "n Jund PO is 291 because we
derive wswm» P, that just like LW is "n 7un% 270 so is pNT. We see now that
according to this view even in the two options of 727, ¥" does not hold of 710%p in the
second option.

The question arises; this interpretation seems to contradict the plain reading of the text,
"XMT ARNTY NI 0I9P INR 0" 270 A" "n aunb 9aR", which seems to indicate that
everyone holds nv19p, what is compelling us to accept this new interpretation? moIn
explains that according to this option ¥"9 cannot hold 7P

N7 MR 9> 720 387 — for if ¥ holds that 7vY?p is MR M5 then we
would not understand s'3" opinion in their "“»n 7%¥n% npYonn where he holds 211, because
VWINPT 3309, for if ¥ would hold nvop

WIRYAR 2T 9B 93 M7 XY — he would not have been able to derive =%
vIwNIRR

Yh2 X7 R? K77 — for P17 and v are totally incompatible to each other
IxonT A snsT 1997 — for if we hold that 7v1op is as if it is resting in the
airspace

[7awwn 5wn® »1] M7 — then the case where their np17nn is, when he is
throwing above ten 2°119v from the 7"77, that would be comparable

7% WD 2IPREY NUD 2IPRY 37 P — as if he is throwing from a >"';19
to a Mwe 2P» and from a =we 2P to a °''717. When the object he is throwing
passes the 2" it is " 79¥nY, that place is a “Mwd mpn, therefore if we say 7019p, then
when the object is traveling over the 2"777 it is 7VY2p in a Mwd DPn, it comes out then that
it rested in a MWd 011 while traveling from one >"'717 to the other.

wownh Hhs s»7 891 — and this type of P71 is altogether not similar to w2
YXNR2 7' "7 "' 7% R — which is from a ''771 to a "' with a 2"
in between, because by vwn he is holding the object in his hand, where the concept of
709p is not applicable’, so we consider that he is passing it over the 1"71, however by
P where 09 is applicable it is resting in a 719 01p» and it is unlike LW

VIR PN BP0 20T 190 AN By XWBN — from the above we are
compelled to say that since ¥y"7 maintains that we derive wwmn pan
meaning that they are similar, therefore

AT IRINTR 9D IRY WP 20 — ¥ maintains that M7 ARINIR MWD IND TWWP,
and therefore P77 is similar to v, for we do not consider that it rested in a MWD DPnH,
but rather that it passed over a 71"737 just like W

"D MY RDOWDT RUAMAD TMBT TR AR RN — and now it is well
understood what the X 1) asks “Is this to say that it was certain to 72"
that ¥"9 holds of 71017p, for according to the second option that ¥"1 derives v wmn P

* There is a D> MaoIN here that comments: NT 1NNNY KIN NNT INIY 9 VP N NYT NN NPN)
.12 NNOWN Y350 97072 KT PN IR YINN M) DPid

* The area above a 77n" is considered a 971" up to 10 ©Nsaw, above 10 DNV from the ground level it is a
V9 OPN.

> See previous NVNY YA 1T OIN
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“n 17791 he cannot hold 7vY%p, so therefore since 727 said the 7iwn is ¥, he must hold
that their n12m7 is concerning 7027 (as in the first option).

Doph oMb vxn K97 9w on1 onRY — And this will also explain why 727
could not have said previously in the first option

Swow1mn pIr 3295997 3991 71'7 ' hwRD DaR — but instead said that 7"7 "n Tovny
VWA P D RDT WY, the reason why he did not say it is because

N7 FIMINTR 97D 1207 1192 09 9xn KD »''19T — according to ¥''1 we cannot
derive v wmn P since ¥"Y maintains in the first option that s»> 7v%p
AT MY, and therefore P77 is not similar to WA,

nxp ynwn 321 — and there is also a partial indication that this is so i.e. That
the reason that "» 7vn% P71 is 21 because of nPP, is only according to the 3327, but not
according to ¥"

ROTT 7729 A5 (k%) PUNTR MI YA RTOM 29 N7 — for N7OM 29 in pawT poo

poses the same query as 77127 asks here’ i.e. what is the reason behind the np¥7mn
between °nom ¥'"1

RT3 0 R 2% XpT 87 o8 — and if what the query concludes
that everyone holds R>%7 m337w s» 7wbp

Y978 %11 58P — refers to ¥'' as well, that he too holds of 7up

N7 ammw ond p''oRT K707 299 nmb oxn 90971 — how can we say that
according to X701 27 everyone without exception holds smamw S n0IHP,
which would also mean that everyone holds that a '7 0127 is not required for a 71173

YRR (x,n97) P02 1P — when later in our PAp it seems

TYITN 2IPR 23 DY M RTOM 27 %P2 KV "' K177 — that according to 29
X701, only in a 3"'711 is a '7 2'P% not required for a Samam, butina 1" a opn
"7 is required, and how will that be reconciled with what X701 27 said (as well as 727) that
everyone holds v1%p in a 1"119, meaning that a '7 21p» is not required. Therefore we must
say that even though 71271 ¥ may both agree that 211 71"7 “» nvn?, but it is for different
reasons; for the 031 because of 707 and for ¥"1 because vWIND PAT 119027, just like
Rl Rririyiar}

79703 WD R"'2wA 71131 — however the X"aw= will soon explain’

"7 2yPR NTOM 27 %pa X® 12'"7ma2 R — That even in a X701 29 ,7"'71 does not
require a '7 232» 3"V N3, Therefore he can say that everyone holds 70177 and a 0p»
"7 in never required. Hence this last proof is invalid.

% See previous NYyNY YN 1T oM

" The 80> there states the 8°y2ox of N3 exactly as in our X9, then the X713 concludes that 9oy 211 said
that this N>¥2>N was (also) asked by NxTon 29 (without going into the details) etc. vy

¥ On X7ON 272,71 97 says that if one stuck a pole in a > and someone threw an object from a 9717 and it
landed on top of the pole, even if the pole is one hundred nnx high the Pt is 2»n. From here we see that
according to XTON 27 a T ©IPN ¥’y NMIN is not required in a > (for the pole is not a 7 ©YpPN). From the
ensuing X>0) NTpw of the Xy it seems, according to some DX¥H9n, that in a 9717 a’7 DPN WY NNIN is
required.

? See 1981 17 2,7 'OIN



NP PIINT 17T 0N K, T NIV T2

Summary
mooin offers three explanations why the X773 assumed that 727 is of the

opinion that the 171 between 0°n5m ¥"1 is whether or not we say 717p.

1. 727 said so explicitly in our xmx."

2. 727 must be certain of the reason behind the np1?nn to state that the mawn
1s ¥" and not the 71127, for if 727 were not certain, then there are three
possibilities concerning Y7p: a) only ¥"3 holds mu2p (first option in s'7127
query), b) everyone holds nu%p (second option in query), ¢) no one holds
m2p (option proposed by n»voIn), so therefore if 727 says that the mwn is
¥"3 (and not the 2°221) he must have decided on possibility “a)” above
because if 727 was undecided, how can he say the mwn is ¥"9, maybe option
“c)” is correct and no one holds 7% .

3. The two concepts 7017p and WM PT 1199 contradict each other. If we
hold 7v%p then we cannot hold "» 737¥n% v WIAn PIIT 11°97°. Because 7019p
would make the object at rest in a Mwd 2Pn as opposed to VW in which the
object is over the 7"77 "X, Since in option two ¥"3 holds wwnn pr 11099,
then he cannot hold 7v177. When 7127 said that the 71wn is ¥ who does not
require a "7 DP» (since he holds v7p), therefore he is automatically
negating option two of the query in which ¥"9 holds v>wyan P11 13°9%°, which
negates 7P so obviously 727 assumes option one, that the npyonn is
concerning 7019p."

Thinking it Over

1. What are the different ways of understanding the query (X°¥2°X) of 127
according to the different explanations of n1201n?

2. What are the stronger and weaker points of each of NM501n explanations?

3. Does *n7 annnaw °na nv17p mean that the object is considered at rest: a) in
the airspace where it travels or b) on the ground directly below it? Explain.
4. Why does the °"7 say 7w °nX Xnwm, after his second "o, not after his
first?

5. To what degree did 7721 change his opinion about s'3" position on 717p
after he was Vw19 the query, from before he was vw1D.

' maon is reluctant to accept this approach, since it is highly unlikely.

' There is a difference in the nature of the s'x1) question N2 XW0Y, depending on these three different
explanations. According to explanation #1, the X accepts that the mywn is ¥ because he certainly holds
NVYP, the XIN) is just questioning why N2 said that the HpPIoNHN is about NVISP, N7 should have just said
that ¥4 holds nVop.It is merely a question of wording, not related to the basic issue. According to the
other 2 explanations however, the X1 does not accept that 9 must hold nvV>p, and therefore we may
have no explanation for our mwn. More specifically; according to explanation #2, the X113 suggests that
there is a possibility that N2 agrees that y7 may not hold nvV¥5p. According to explanation #3 the N0
insists that according to the second option of N2, that y»9 cannot hold NVY>7p.



